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Effect at the modification of

the slider unit surface position

1st case: Displacement of the slide holder in | | o | -
Slide holder in £ Z-direction results in a deviation

+ z 'dlr ecC t’ on in £ Vw (displacement tool) according to the following table:

mm 0 5 10 (45) 20 25 30 35 40 45 50 (55) 60 65 70 75
001 0,01 0,01 001 0,01]001 0,01 0) 0) 0) 0] 0] 0) 0 0 0 0

Lockout / = Changing of the
Screw offset slide holder position +‘Z 0,02 0,02 002 002 002002 002 001 001 001 001 001 001|001 O 0 0
Y~ 0,03 0,04 0,03 003 003|003 003 002 002 002 002 002 001|001 001 001 0
] & —_ 0,04 0,05 0,05 004 004|004 004 003 003 003 003 002 002|002 001 001 0,01
v 0,05 0,06 0,06 006 005|005 005 004 004 004 003 003 002|002 002 001 0,01
4 0,06 0,08 0,07 007 007 |006 006 005 005 004 004 004 003|003 002 002 0,01

| ockout measure

Standard 0,07 009 009 0,08 0,08]|007 007 006 006 005 005 004 0,04} 003 003 0,02 0,01

<0,1 01 009 009|008 008 007 007 006 006 005 (004) 004 003 002 0,02
009 012 011 011 01 | 01 009 008 008 007 006 006 005|004 003 003 0,02
01 013 013 012 0114011 01 009 009 008 007 006 005|005 004 003 0,02
(02) 027 o026 024 (023) 022 02 019 018 016 015 013 0411+ 01 008 006 005
03 041 039 037 035 033 031 029 027 024 022 02 0,17 l 0,15 012 01 007

| ockout measure
Correction measure

VW -Tool (Punch
ool (Punch) 052 049 047 044 041 039 036 033 03 027 023} 02 017 013 0,1

S W l:: ,
s / QA ' (05) 068 065 062 058 056 052 049 045 041 087 033 (029) 025 021 017 012
06 08 078 074 07 067 062 058 054 049 045 04 035 03 025 02 0,15
07 095 091 08 08 078 073 068 063 058 052 047 041 035 03 024 0,18
08 109 104 099 094 089 08 078 072 066 06 054 047 041 034 027 02
09 123 117 112 106 1 094 08 081 074 067 06 053 046 038 081 023
1 136 13 124 117 112 104 098 09 08 075 067 059 051 042 034 025
2 273 26 249 235 224 209 19 18 166 15 135 1,18 102 08 069 051
3 41 39 374 353 336 313 294 271 249 225 202 178 153 128 103 077
4 546 52 499 471 448 418 392 361 332 3 27 237 205 1,71 138 103 =
5 68 65 624 58 56 52 49 451 416 376 337 296 256 214 172 129 |
- S
7
8

Normal height
Height offset
O
'S
o
&)
AN

82 78 749 707 6,72 6,27 588 542 499 451 405 3,56 3,0/ 257/ 20/ 1,55

95/ 91 8,74 825 784 732 686 632 582 526 4,/3 4,15 3,59 3 2,41 1,81

1093 104 999 943 896 837 784 723 665 6,01 54 475 41 343 2,/6 2,07

9 12,3 11,7 11,24 10,61 10,08 941 8,82 8,13 748 ©6,/7 6,08 534 461 38 3,1 233
10 136/ 13 1249 11,79 112 1046 98 903 832 7,52 6,/5 593 513 429 345 2,59

W = Angle of the cam T ——
Vw= Displacement punch / tool Beispiel 1> Z 0,2 bei 15° & Vw = 0,23 mm

Shows the modification of the tool position (Vw) at a diplacement of the slide holder position (2).

Beispiel 2. Vw 0,33 bei 55° & Z =0,58 mm (0,29+0,04 =0,33 / 0,5+0,08 = 0,58)
Shows which displacement (Z) is necessary to obtain the desired tool displacement (Vw).
Hereby also values for the searched value can be added.

Z = Displacement of slide holder position to the base in = Z-direction

- T = =

T

. I::::_ -
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Displacement of the driver in = X-direction results in a deviation
in = Vw (displacement tool) according to the following table:

2nd case: Displacement of the driver in £ X-direction '@‘

R

+
X
mm O 5 10 15 20 (25) 30 35 (40) 45 50 55 60 65 70 75

- 0,01 0,000 0,001 0,002 0,003 0,003 0,004|0,005 0,006 0,00610,007 0,008 0,008 0,009 0,009 0,009 0,010

4
\f.tl ln. 4

N
Wil =

e

0,02 0,000 0,002 0,003 0,005 0,00/ 0,008|0,010 0,011 0,013,0,014 0,015 0,016 0,017 0,018 0,019 0,019
<O,OOO 0,003 0,005 0,008 0,010 0,013|0,015 0,017 @ 0,021 0,023 0,025 0,026 0,027 0,028 0,029
0,04 0,000 0,003 0,00/ 0,010 0,014 0,017]0,020 0,023 0,026 | 0,028 0,031 0,033 0,035 0,036 0,038 0,039
i‘ 0,05 0,000 0,004 0,009 0,013 0,017 0,021]0,025 0,029 0,0320,035 0,038 0,041 0,043 0,045 0,047 0,048
\ 0,06 0,000 0,005 0,010 0,016 0,021 0,025) 0,030 0,034 0,039+0,042 0,046 0,049 0,052 0,054 0,056 0,058
0,07 0,000 0,006 0,012 0,018 0,024 0,030)0,035 0,040 0,045,0,049 0,054 0,057 0,061 0,063 0,066 0,068
\ AS - 0,08 0,000 0,00/ 0,014 0,021 0,027 0,034|0,040 0,046 0,051|0,057 0,061 0,066 0,069 0,073 0,075 0,077

VW - Tool (Punch) \ - | LEITE e IHENES 0,09 0,000 0,008 0,016 0,023 0,031 0,03840,045 0,052 0,058 0,064 0,069 0,074 0,078 0,082 0,085 0,087

) AS-X - o,ooo 0,009 0,017 0,026 0,034 (0,042) 0,050 0,057 0,064,0,071 0,077 0,082 0,087 0,091 0,094 0,097

/
constant

I
|
H

= | Backwards o
= \ ® 2\ @ __ displacement 0,000 0,017 0035 0,052 0,068 0,085 0,100 0,115 (0,129) 0,141 0,153 0,164 0,173 0,181 0,188 0,193
Vw — \ \ 0,3 0000 0,026 0,052 0,078 0,103 0,127 0,150 0,172 0,193 0,212 0,230 0,246 0260 0272 0,282 0,290

0,4 0,000 0,035 0,069 0,104 0,137 0,169 0,200 0,229 0,25/ 0,283 0,306 0,328 0,346 0,363 0,376 0,386
| 0,044 0,087 0,129 0,171 0,211 0,250 0,287 0,321 0,354 0,383 0,410 0,433 0,453 0,4/0 0,483
+VW 0,6 0,000 0,052 0,104 0,155 0,205 0,254 0,300 0,344 0,386 0,424 0,460 0,491 0,520 0,544 0,564 0,580
| 0,7 0,000 0,061 0,122 0,181 0,239 0,296 0,350 0,402 0,450 0,495 0,536 0,573 0,606 0,634 0,658 0,676
0,8 0,000 0,00 0,139 0,207 0,274 0,338 0,400 0,459 0,514 0,566 0,613 0,655 0,693 0,725 0,752 0,773

/
(=
o
o
o
S
S

X 0,9 0,000 0,0/8 0,156 0,233 0,308 0,380 0,450 0,516 0,579 0,636 0,689 0,73/ 0,779 0,816 0,846 0,869
| LT 1 0,000 0,087 0,174 0,259 0,342 0,423 0,500 0,574 0,643 0,707 0,766 0,819 0,866 0,906 0,940 0,966
-X<—€9—> +X 2 0,000 0,174 0,347 0,518 0,684 0,845 1,000 1,147 1,286 1,414 1,632 1,638 1,732 1,813 1,879 1,932

W = Angle of the cam

Beispiel 1> X 0,1 bei 25° & Vw = 0,042 mm

Shows the modification of the tool position (Vw) at a diplacement of the driver position (X).

Beispiel 2. Vw 0,148 bei 40° & X = 0,23 mm (0,729+0,019 = 0,748 / 0,2+0,03 = 0,23)
Shows which displacement (X) is necessary to obtain the desired tool displacement (Vw).
Hereby also values for the searched value can be added.

Vw= Displacement punch / tool

X = Displacement driver on the base in = X-direction
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